
SAP ABAP table VTB_SIHPT {Main Transaction of a Hedge Allocation}

VTB_SIHPT

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RSICH [CHAR (13)]

WTRANS [CUKY (5)]

WBASIS [CUKY (5)]

OBJNR [CHAR (22)]

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 VTB_SIHPT-OBJNR = ONR00-OBJNR 
0..N

0..N

T000

MANDT [CLNT (3)] VTB_SIHPT-MANDT = T000-MANDT 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTB_SIHPT-BUKRS = T001-BUKRS 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTB_SIHPT-WBASIS = TCURC-WAERS 

0..N

0..N

 VTB_SIHPT-WTRANS = TCURC-WAERS 

0..N

0..N

VTBSI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RSICH [CHAR (13)]

 VTB_SIHPT-RSICH = VTBSI-RSICH 

0..N

0..N


